Basic Set Terminoloqgy:

A is the set of students registered for this class. (Word Description method)

B

{1,2,3,4,5}  (Roster method)

C={2,4,6,8 (Roster method)
D= {x| X 1S a counting number less than 6} (Set-builder notation)
E= {x| X IS an even counting number less than 10} (Set-builder notation)

Convert F ={1,2,3,...,19} into set-builder notation.



There is a special set with no elements called the empty set.
Notation: { } or ¢.

Sometimes the empty set is in disguise.

A={x|x is greater than 5 and less than 2}

Set membership:

Please accept my

e means is a member or element of resignation. | don't care
to belong to any club

that will have me as a
¢ means is not a member or element of member.




Fill-in the blanks with either € or ¢.

3[ 1{3,5.7)

6 1{35,7}

15[ 1{1,2,3,...,20}

3| |{x]xisacounting number with 4 < x <9}

There’s a special abbreviation for the Counting Numbers or Natural numbers:
N={1,23456,..



Cardinal Number and Cardinality:

The cardinal number or cardinality of a set, A, is the number of elements in the set A.

Notation: n(A)

Determine the following cardinal numbers:

n({2,4,6,8})=
n({x|xeN with 4<x<12})=
n({x|xeN withx<4and x>7})=

n({2,2,4,6,8})=



Equivalent Sets:

Sets are equivalent if they have the same cardinality(number of elements).
Determine if the following pairs of sets are equivalent sets:

{1,2,3,4,5} and {a,b,c,d,e}

{x|xeN with 3<x<8} and {1,2,3,4,5}

{x|xeN withx<2 and x>11} and ¢

{1, 2,3, 4} and {1, 2,3, 4}



Equality of Sets:

Sets are equal if they have the same elements.
Notation: =

Determine if the following pairs of sets are equal:
{1,2,3,4,5} and {a,b,c,de}

{x|xeN with 3<x<8} and {3,4,5,6,7,8}

{x]|xeN withx<2and x>11} and ¢

{1,2,3,4,5,6,7,8} and {1,2,3,...,8}

EQUALITY, YOU KEEP
USING 'I'IIA'I' WORD

ﬂw

1DONT ﬁlllll( IT MEANS
WHAT YOU THINK IT MEANS.



Subsets:

A set A is a subset of the set B if each element of A is also an element of B.

Notation: Ac B

Fill-in the blanks with either < or «.

3.7

(35,7

13.6]

{3,5,7}

{4,5,6,...,13}

{1,2,3,4,5} ¢

¢

{1,2,3}

¢

{a,b,c}

(1,2,3}

¢

1,2,3,..

20!

{Think of B as a menu and a subset A as an order from the menu.}

; ™
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GROUP MENU
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‘with house made whisky ketchup
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CHICKEN FAJITA PENNE PASTA i
with peppers and onions in a cream sauce { |
CLASSIC CHEESEBURGER it i
on a toasted brioche bun with house slaw and fres Mo
HAGGIS FILO PARCELS il
shed ne and whisky sauce s|
10INCH MARG
it s £1 each g
TEAK INNESS PI
wi and veg
m IC BREA |
add p 1k o onions for £1
R BATT
with chu ade
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STICKY TOFFEE PUDDING
‘with toffee sauce and vanilla ice cream

OC CHEESECAKE OF THE WEEK
askyour ve got!
CHO

ai

¢
SELECTION OF ICE CREAM
your choice of saiice
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Proper Subsets:

A set A is a proper subset of the set B if each element of A is also an element of B,
but A=B.

Notation: AcB

Fill-in the blanks with either < or <.
{3,7} {3,5,7}

(357} ]435,7)

{4,5,6,...,13} {1,2,3,...,20}

(1,2,3,456,7}] [{1,23,...,7}

) {a,b,c}




How many subsets or proper subsets does a set have?

Set A | n(A) Subsets of A PrOpeOrfil\JbsetS suig;ts pfo%fer
subsets
¢ 0 ¢ none 1 0
{a} 1 ¢,a} ¢ 2 1
$.a},
path $.{a }{{b }}{? ;}{ o] 84 ?{{a}}’{{b}
bt,{ct,ia,bt, | @,1at,ibt,sc
B0 3 ach bl fabel | fablfachibel

a.c

J

Use inductive reasoning to complete the following:

If a set has n elements, then it has

If a set has n elements, then it has

subsets.

proper subsets.




How many subsets are there of the set {a,b,c,d,e}?

How many proper subsets are there of the set {a,b,c,d,e}’?

A pizza can be ordered with some, none, or all of the following toppings:

{ pepperoni, sausage, mushroom, onion, peppers,black olives, greenolives, hamburger} :

How many different pizzas are possible?

In this example, what would correspond to the empty set?




